MH CET Law - 5 Year Integrated LLB Sample
Paper

1) Legal Aptitude and Legal Reasoning (40 Marks)

1. The minimum gap permissible between two sessions of Parliament
a) 4 months

b) 6 months

c) 100days

d) 90days
Ans: d

2. The Council of Ministers remains in office as long as it enjoys the confidence of
a) President
b) Lok Sabha
¢) Prime Minister
d) None of these
Ans: b
3. To whom the Speaker of T.ok Sabha has to address his resignation letter?
a) Chief Justice of India
b) DeputySpeaker of Lok Sabha
¢) The Prime Minister
d) The President
Ans: b
4. Fundamental rights have been declared in-
a) Part of the Constitution of India
b) Part Il of the Constitution of India
¢) PartlIl! of the Constitution of India
d) PartlV of the Constitution of India
Ans: ¢
5. The oath is administered to the President of India by
a) Speaker of Lok Sabha
b) Prime Minister of India
¢) Attorney General of India
d) Chief Justice of India
Ans: d
6. Principle: An Indian citizen, if he commits an effence within the meaning of Indian Penal Code inany other
country, will still be liable to be tried in India.

Facts: Mr,Vaibhav, a citizen of India, commits a murder inthe USA, which is not an offence in the USA. In
the present case,

a) Mr.Vajbhav is guilty of murder and can be tried in India irrespective of the fact that murder is not an offence
in the USA.

b} Mr.Vaibhav is not guilty of murder in india because it is not an offence in the USA.

¢} Mr.Vaibhav is not guilty of murder because it was not committed in India.

d) None of the above
Ans: a

7. Principal: An offer can beaccepted only when the acceptor has knowledge of such offer. Facts: Mr.Arpit offers to

pay areward of Rs,10,000, to anyone who finds his watch, Mr.Mithilesh, without knowledge ef the offer made

by Mr.Arpit, finds and returns the watch.

a) Mr.Mithilesh can claim the reward offered by Mr.Arpit, because he finds and returns the watch.

b) Mr.Mithilesh can't claim the reward amount as the offer made by Mr.Arpit was frivolous.

¢) MrMithilesh can't claim the reward because he didn't have knowledge of the offer made by Mr.Arpit.
d)} None of the above
Ans: ¢
8. Principle: An agreement to do an impossible act is veid.

Facts: Ms. Rajani agrees with Mr.Bala to discover treasure by magic.
a) The actis not void because the act is capable of being performed.
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) The act is not void because it is not forbidden by law,

¢} The act is void because the agreement to discover treasure by magic is impossible of performance.

d) None of the above
Ans: ¢
Principle: Willful rash driving is an offence,

Facts: Mr. Tiwari was driving his car after drinking alcohol. Police books him for willful negligent drivi mg Is the act

of the police lawful?

a) No, because Mr. Tiwari was not driving rashly; he was drunk while driving.

b} No, this is not a negligent act.

€) Yes, because Mr. Tiwari was driving rashly.

d) Yes, because the police has the power to arrest a person driving rashly.

Ansia

PRINCIPLE: Marrying once again during the sustenance of earlier marriage is an offence punishable un&er faw,

FACT:- Mr. Kumar and Ms. Pooja are married for the last 4 years. Ms. Pooja met with an accident and was admitted
to the hospital in an unconscious condition. Now 59 days have lapsed and her unconscious condition continues. The
docters say that her survival would be difficult. Mr. Kumar and Ms. Pooja have a young kid aged 8 months, whom
they like very much. As there is no body take care of the child Mr. Kumar asked his friend Mr. Lata to take care of
the kid. She imposed a condition that she would ke care of the kid only if he marries her, ngder these

circumstances Mz, Kumar married Ms. Lata.

a} Ms. Lata forced Mr. Kumar to marry her, so Mr. Kumar has not committed any offence.
b} Mr. Kumar was helpless under the given circumstances. So he has not committed any (}ffencfee.
c} Mr. Kumar by marrying Ms. Lata has committed and offence. :
) None of the above
Ansi- ¢
The E-Court project was [aunch in
a) M
by 2610
) 2009
d) 2007
Ans: d

All students graduating from academic year
order to praciice law in India.

a)  2007-08

b} 2009-19

¢ 220809

dy 20010-11

Ans: b
Parole is & suspension of sentence. The statement is

a} True

b) False

¢} Partly correct
¢} None of the above
Ans: b

onwards need to clear the All india Bar Examination in

The process by which the state ensures that an offender is punished is called

a} Investigation

b} Trial

<y Prosecution

d}None of the above
Ans:¢

15. President Pranav Mukherjee rejected the Mercey petition filed by

16.

a) Afzal Gura
b} Davinder Pal Singh Bhullar
¢} Mahendra Nath Das
d) Both {a} & {b)
Ans:a

Which among the following is the author of the book “ Off the Bench”?

a) Mr.Justice V. R, Krishna lyer
b} Mr. fustice A, R, Lakshman
¢} M hustice | 8. Verma
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20.
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24.

d} Mz Justice Y. V. Chandrachud
Ans;a

The offence of inciting disaffection, hatred or contempt against Government is

&) Perjury
b} Forgery
¢}  Sedition
d} Revol
Ans: ¢
Where is the National Judicial Academy located?
a) Kolkata
) Bhopal
¢} Dethi
d}  Mumbal
Ans:b
Bvery suit shall be instituted
a) Inthe Supreme Court
by Inany Courtin the locality
€} Inthe Court of lower grade competent fo try it.
cd}  In the District Court
Ansic
Dishonor of cheque is an offence punishable under
a} Indian Penal Code
b) Banking Regulations Act
¢) Negotiable Instruments Act
d} Payment and Settlement Act
Ans: ¢
Information Technology Act came in to operation in
ay 2001
by 2002
<) 2000
d}y 1999
Ans: ¢
In criminal irials an accused is-
a)  Deemed guilty until proved otherwise
by Deemed innocent until proved otherwise
¢)  Always kept in jail untii the end of trial
d} Always released on baii pending the trial
Ans: b
A Judge of the Supreme Court holds office tiil he/she reaches the age of:
a) 5SByears
b} &0 years
€} 65 years
d) There is no apper age limit

Ans: ¢
The FEMA Act means

&) Foreign Exchange Act
b} Foreign Management Act
¢) Foreign Exchange Management Act
d) None of the above
Ans:c

. The modern conception of Human Rights developed in the aftermath of the

&) First World War
b}  Second World War

¢} Gulf War
dj None of the above
Ans: b

Lok Sabha is elected for a period of
a} 4 Years



27.

28,

29,

30

31.

32,

33

34.

35,

by 5 Years
¢) 6 Years
d} None of the above

Ansi b
POTA stands for

a} Prohibition of Terrorists Act
b} Prohibition of Toxic Acids
¢} Prevention of Terrorism Act
d) Prevention of Terrorism and Attrocities
Ans:¢
The Indian Supreme Court consists of
a} 26 Judges
by 25 Judges
¢y 20 }udges
d) 31 hudges
Ans: d
Crimeisa
ay Private Wrong
b)  Public Wrong
¢} Civil Wrong
d) None of the above
Ans: b
The act of unlawfully entering into another’s property
a} Breach of Property
by Trespass
¢} Triplication
dy Trover
Ans: b
Fundamental rights are guaranteed by the
a} President
b) Parliament

¢) People
dy  Constitution
Ans:d

By which of the following Constitutional Amendment Act, the Right to Education is made a Fundamenta] Right
a) 84

b} 86t
c)  BIst
d) 83w
Ans:b
The minimum age for voting i a Panchayat Election in india is
a) 18 years
by 21 years
¢} 16 years
d) 17 years
Ans: a

The Constitution of India is

a} A wholly unwritten Consttution

b} A wholly written Constitution

¢y Partly written Constitution, partly based on customs

d) A matter of ancient Indian tradition.
Ans: b

indian Constitution envisages

a} A Federal Government

by A usnitary Government

¢} A quasi- federal Government

d} A quasi- unitary Government
Ansi ¢
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a) Positive Rights
b) Negative Rights
¢} Imperfect Rights
d) None of the above

Ans:a
37 T.6. Thakuristhe ................ Chief Justice of India
a} 39
b) 41
¢} 42nd
d) 43
Ans: d

38. Naticnal Law Day in India is observed on
a} 244 October
b} 10% December
¢} 26% November
d} 153% August
Ans: ¢
39. Which one of the foliowing is not correcs?
a) Freedom of speech and expression includes freedom of press,
b} Right to life and personal liberty inchudes right to carry on any trade and profession
¢} Right to equality includes the principles of natural justice
d} Freedom of conscience includes the wearing and carrying of kirpans by the Sikhs
Ans: b
40. Y makes an attempt to steal some jewels by breaking open a box and finds, after opening the box, that there is no
jewel in it. Choose the appropriate answer.
a} Y is not guilty of attempt to theft because the box was empty.
by Y is guilty of attempt to commit theft.
¢} Y is guilty of trespass.
d} Y is not guilty of any offence.
Anst b
it} General Knowledge including Current Affairs (30 Marks)

1. Lingaraja Temple which was built during the medieval period is at —memrmmen
a. Bhubaneshwar b. Mount Aby ¢. Khajurao d. Chhattarpur

Answer — (3]

2. Which of the following date is regarded as ‘Red Letter Day’ in the history of Modern India.
a. 20® February 1947, b. 15% August 1947

¢ 09" Decemnber 1946 d. 24" March 1947
Answer - (b}

3. Fa-Bien, the Chinese pilgrim, came to India in the year
a. 398 A.D. b. 458 A, c. 467 A.D, d. 405 AD.

Answer - {a)

4. Whe was known as *Liberator of the Press'?
2, Bentinck b. Hastings c. Metcalfe d. Macaulay

Answer - {c}

5. *Chauth’ was the tax collected by ~
a. Marathas b. Mughals ¢. Khiljis d. Rohiilas

Answer - [a}



16.

a 12 b.25 ¢33 4. 15
Answer — (b}

Which is the largest sea in the world?
4. Caspian Sea b, South China Sea ¢, Mediterranean Sea d. North Sea

Answer — {b}

Name of the oldest Mountain Range of India?
4. Himalayas b. Nilgiris ¢. Aravallis d. Vindhyas

Answer —{c}

Lunar eclipse occurs on

b, New Moon b. Full Moon ¢. Half Moon d. Quarter Moon
Answer — {b}

Which stafe in India has the world’s largest deposit of Thorium?

€. Assam b. Andhra Pradesh ¢. Karnataka d. Kerala
Answer - {d}

11 Who developed Yahoo?
& Dennis Ritchie and Ken Thompson b. David Filo and Jerry Yang c. Vint Cerf and Robert Kahn
d. Steve case and Jeff Bezos

Answer — (b}

12 Which is the heaviest Satellite (natural) of our solar system.

a.Moon b, Phobes ¢, Ganymede d. Deimos
Answer — [¢]

13 The gas used for artificial Fruit ripening is -
a. Fthylene b, Acetylene ¢. Ethane d. Methane

Answer = {b}

14 Bronze is an alioy of

a. Copper and Zinc b. Tin and Zine ¢. Copper and Tin d. [ron and Zinc

Answer — {c}

15 Father of Cloning

b, Gerhard Fischer b. Dr. {an Witlmu ¢. Dr. Hargobind Khorana
d. Mendel

Answer - {b}

16 india has followed mremmrweussus Policy of economic Development since 1961
a.  Liberal b. Normal ¢. Strict d. Restrictive

Answer —{a}

17 The World Trade Organization came into existence on mwavuuuns

a. December, 1994 b. January, 1993 c. December, 1996 d. January, 1995
Answer — {}

18, The One rupee currency notes/ coins are Issued by the «verrmm -

a. SBI b. Ministry of Finance c. RBI d. None of the above
Answer — (b)

19. Among the following taxes, which one is the indireet tax?
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Answer — (¢)

20, Which state of India records the highest production of tea?

2. West Bengal b. Kerala ¢, Tamil Nady ¢, Assam

Answer — {d}

21. Who among the following was the only public official to resign his post in protest of emergency,
a, Justice H.R. Khanna b, K.R. Narayana c. Fali. S. Nariman d. None of the above
Answer — (¢}

22, How many times can a President of India be re-elected?

a. can notf be re-elected b, only once ¢. only twice d. any number of times
Answer - {d)

23. Who among the following is not appointed by the President?

a. Speaker of Loksabha
b. Chief lustice of India
¢, High Court judge

d. None of the above

Answer - {a}
24, The executive head of the State is

a. The Governar &, The Chief Minister ¢, The State Cabinet d. The State Legislative Council

Answer - (&)
25. The Women's Reservation Bill was passed by Rajya Sabha on «owen
a.09.01.2010

b, 09.01.2008
€. 09.03.2010
¢. 01.03.2010

Answer — (¢)
26. Which of the following companies recently taken over by Google?

a Motorola b, HTC €. Sony Ericson d. None of the above

Answer - (a)
27, Who is the winner of the first Noor Inayat Khan Prize for 2016

a. Mamta Jain b, Padma Sharma c.Geetakshi Arora d Geetanjali Purohit

Answer — {¢}
28. The Setu Bharatam project has been Jaunched for which purpose?

a. To create free apps for Swatch Bharat Mission

b. Te make ali nationa! highways free of Railway crossings
¢. To boost Swatch Bharat Abhiyan

d. To encourage entrepreneurship among youth

Answer — (b)

29, According to Railway Budget 2016-17, which research organisation will be set #p uader Railways?
A. Vishieshan B. Srestha C. Avataran 3. Navrachna

Answer - (b)
30. Which state has launched ‘Niramaya’ scheme for distribution of free medicines?

a. Odisha
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¢. Jharkband

d. Madhya Pradesh

Answer — (a)

1}

a)
b)
<)
d)

2}

a)
b)
¢}
d)

3

a)
b)
c)
d)

4)

a}
b)
<)
&)

2)

a)
b}
¢}
d)

6)
a)
b}
c)
d)
)]

a)
b}

iii) Logical and Analytical Reasoning (40Marks)
RAP, MAP, HOT, FUN ?

PQR
ST™
CAT
WXY
Answer: ¢} CAY

LASON?

gwo™

Answer: b} D
ONM, SRQ, WV AZY 7

pCB
LMN
JH
UuTsS
Answer: a) DCB

ABIN, CDOE, EFUY, GHBK, ?

LKDF
HOD
118
KSLA
Answer: ¢} HOD

PFZ, RGY, THX ?

STU
Uiw
VTY
ABD
Answer: b} UIW

C-32, D-64, £-128, F-256 ¢

B-16
G-515
H-78
A-16
Answer; a) B-16

SELECT, DETECT, COLLECT, PUPPET ?

DEFECT
EJECT
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¢y SILLY
d) ELECT
Answer: ¢ SILLY

8} Beautifi : Handsome 1 Women: ?

a}) Them
b} Her
¢} Chaming
dy Husband
Answer: d} Husband

9 3:16::8:7

a) 1l
b} 14
¢} 15
dy 17
Answer: ¢) 17

10} Tuesday : May : : Saturday ; ?

a} September
by Monday
¢}  August
d} Wednesday
Answer: a) September

1) UNMEBR  NUMBER :: FLOAT :?
a} FLOTA
by LFOAT
¢y FTOAL
dy TOFAL
Answer: b) LFOAT

12) Punishment: Crime:: Prize: ?

ay Guilty
b Haired
¢} Deed
d) Sin
Answer: ¢) Deed

13} Biacksmith : Hammer : ; Soldier:?

ay Gun
b) Sword
¢) Knife
¢} Bullet
Answer : 2) Gun

14Y Pisease : Health : : Freedom : ?

a) Pleaswre
b) Plight
¢y Ugly
d) Slavery
Answer : d) Slavery




153 If SPOT is written as 1234, CAUGHT is written as 567894 and START is written as 94584, Find the
code for SMART

a) 65987
b} 58975
¢} 36984
dy 45682
Answer: ¢} 56984

16) CALCULATER is coded in a code as CACLUALTER,; Find the code for GEOMETRY under the sa%ne rule.

a) GEMOTERY
b} GETROMEY
¢} GTMYEORE
d}y REYGTMOE
Answer: a) GEMOTERY

17) HSAM = 33 and JIMMY = 70, Find the value of METTLE 9

a}y 45
b) 75
¢} 65
dy 95
Answer: b) 75

18} If DELHI is coded as EFMLIJ. What is the code for MAHARASHTRA ?

a) NBIBSBTIUSB
by NCIKLPHUQL
¢} KOISUPQTLF
4 ISORYNOIYS
Answer: a) NBIBSBTIUSH

19} Inacertain language A is written as 2, B as 4, C as 6, what do the figure 8, 10, 10, 8 stand for ?

a) DEED
by DEEP
¢) DEER
dy FEED
Answer: a) DEED

20) IfPEN is coded QFO, Find the code for SUN.

ay OUT
by TVO
¢y RTU
dy TRU
Answer: b} TVQO

21) I GENERAL is coded as 7555913, How can KNOWLEDGE be coded

a) 569545695
by 123456789
¢} 987654321
d) 256535475
Answer ; d) 256535475
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22} He is a soldier, so he cannot write comics

ay Nosoldier can write comics

b} Some soldiers can write comics
¢} Soldiers can seldom write comics
d)  All of these

Answer; a) No soldier can write comics

23} His obviously false that dictators always die as martyrs
a) Seme who die as martyrs are not dictators
b) Many whoe die as martyrs are other than dictators
¢} Dictators rarely die as martyrs
¢) Al ofthese
Answer: d} All of these

24) This man can’t win because he is not honest

) Those who can win are honest
b} All honest persons are winners
¢} Only winners are honest

d} None of these

Answer: b} All honest persons are winners
25} Some criminals are not politicians

a) Some criminals are politicians
b} Some politicians are not criminals
¢} Both of the above
dy None of these
Answer: ¢} Both of the above

26) All that glitters are not gold
a3y Many things that shine are other than gold
by Whatever shine is other than gold
¢} Gold is not the only gliftering substance
d) Al of these

Answer: d) All of these
27} Some of the students are disobedient

a} Some gre disobedient students
b)Y Some students are not disobedient
¢} Both of the above
d} None of these
Answer: ¢} Both of the ahove
28) Shouid education be given to poor free of charge by the government?

Argument | - If yes, it will help the growth of the country
Argument 2 — If no, there will be illiteracy creating some new problems

a}  Only argument 1 is strong

b)Y Oanly argument 2 is strong

¢} Both the arguments are strong

d} Neither 1 and 2 is strong

Answer: ¢) Both the arguments are strong

29) Should the government stop aiding the minority institutions of education?
Argument 1 — If yes, it will help in the development of the minorities.
Argument 2 - If no, ruling party would lose is vote banks in elections.

22



a} Only argument | is strong

b} Only argument 2 is strong

¢) Both the arguments are strong
d) Neither I and 2 is strong

Answer: a) Only argument | is strong
30) Ram is wo clever to fail in the examination,

Assumption 1 — Very clever boys do not fail in examination
Assumption 2 — Those who are not clever may fail in the examination

a} Assumption 1 is implicit
b} Assumption 2 is implici
¢} Both the Assumption 1 and 2 are implicit
d) Neither of them are implicit
Answer: ¢} Both the Assumption | and 2 are implicit
31) Every citizen of India exercises adult franchise
Assumption 1 - Children are entitled {o cast their votes
Assumption 2 - Adults suffrage is related to those who are grown up.

a)y Assumption 1 is impiicit
b} Assumption 2 is implicit
¢} Both the Assumption | and 2 are implicit
d) Neither of them are implicit
Answer: b Assumption 2 is implicit
32) A instable person is 2 non-criminal who commits crime because of its abnormality.
Conciusion 1 - Some crimes have the root cause of abnormality.
Conclusion 2 — Instability and abnormality go hand in hand.
a) Only conclusion i is correct

b} Only conclusion § is correct
¢} Both | and 2 are correct
d} Neither of them are correct
Answer: ¢} Both | and 2 are correct

33} Let the government increase the penal punishments for the criminals to decrease money laundering crimes in

India
Assumption I - The present punishments for the crimes are very less,

Assumption 2 — I government warnds to get away with money laundering issues it should increase the

punishment.
a) Assumption 1 is implicit
b) Assumption 2 is implicit
¢) Both the Assumption { and 2 are implicit
d} Neither of them are implicit
Answer: b} Assumption 2 is implicit

34} Since the feeling of secularism is built in wherever there is social developments, there is Hitle that can be done

arrest it except at the cost of rigidity in the governmenis functioning,
Conclusion | — To maiatain social developments secular issues should be allowed 1o be
continued

Conciusion 2 — Secular issues and social developments run side by side.
a) Only conclusion | is corret

b) Only conclusion 1 is corregt
¢) Both i and 2 are correct
d} Neither of them are correct
Answer: ¢} Both 1 and 2 are correct
35) (1) My daughter is not old enough to vote
(2) My daughter is beautiful
Inference: My daughter is a girl under 18 years of age.
a) The inference is definitely true

b) The inference is definitely false
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¢} The inference is definitely is probably false or true
4} The inference cannot be drawn
Answer: ¢} The inference is definitely is probably false or frue
36) (A) Those who are respectful are good children
(B) Beautiful chiidren are respectiut
Inference: Beauty and respect are qualities of children.
a) The inference is definitely true
b} The inference is definitely false
¢} The inference is definitely is probably false or true
d) The inference cannot be drawn
Answer: ¢) The inference is definitely is probably false or true
37} (A) Fither he is illiterate or poor
(B) He is poor
inference: He is poor
a) The inference is definitely true
b) The inference is definitely false
¢) The inference is definitely is probably false or true
d} The inference cannot be drawn
Answer: b} The inference is definitely faise
38y (A)Risbehind Pand Q
{B) T is behind §
Inference: T is behind
a) The inference is definitely true
b) The inference is definitely false
e) The inference is definitely is probably faise or true
d)} The inference cannot be drawn
Answer: 2) The inference ks definitely true
39} (A) The is train for track no 4
(B) Trains fo track no 4 usually go to Delhi
Inference: This train goes to Delhi
a) The inference is definitely frue
b} The inference is definitely faise
¢} The inference s definitely is probably false or srue
d} The inference cannot be drawn
Answer: ¢) The inference is definitely is probably false or true
40} Assertion (A): There is population explosion in india
Reason (R). Majority of people living in India are Hindus

a) ‘A’ istrue and "R’ ks false

b} *A’ is false and ‘R’ is true

¢) Both ‘A’ and ‘R’ are true and "R’ is not the correct explanation of *A”
d} Both "A’ and ‘R’ are true and "R’ is the correct explanation of *A”

Answer: ¢) Both “A” and ‘R’ are true and ‘R” is not the correct explanation of *A°

iv) English (30 Marks)

Instractions: fdemiify the word that means the same:
1. Juvenile

ay  Young Person

») Old Person

€} Offender

d) Middle aged Person

Ans: a

2. Bankrupt
a)l Wealthy
b} Insolvent
c) Reckless
d) Honest
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Ans: b

3. Spendthrift
a) Famous
b)Y Miser
¢} Extravagant
d} Frugal

Ans: ¢

4. Vioiate
a) Follow
b) Discbey
¢} Command
d) Regard

Ans: b
Instructions: Choose the word which is opposite in mcaéiug it each of the following:

5. Cruel
a}) Weak
By Brutal
¢y Kind
d) Troublesome

Ans: ¢

6. Adiowrn
ay Postpone
b) Continue

¢} Prepone
4y Delay

Ans: b

7. Industrious
a) Indifferent
b) Hard working
¢) Lazy
d} Brave

Ansic

8. Hosile
a2y Humane
b} Mischievous
¢} Friendly
d) Merciful

Ans: e
Instructions: Cheose apprepriate one word for the following:

9. A person who does not believe in God
aj Pagan
b) Atheist
¢) Fanatic
d) Spiritual

Ans: b



10. One who selis things by roaming about
a} Businessman
b} Hawker
¢} Shopkeeper
dy Grocer

Ans: b

11. A person who Jooks at the bright side of a thing
a) Optimist
b)  Pessimist
¢} Philanthropist
d} Hypocrite

Ans:a

12. Former holder of any office or position
a) Predecessor
b)Y  Successor
¢) Heir
d} Follower

Ans: a
Instructions: Some idioms given below are commenly used. Choose the correct meaning for each of the idioms:

13, A snake in the grass
a) Hidden Enemy
b} Fair weather friend
¢} Bosom friend
d} Trustworthy Person

Ans;a

14. To give a false colouring
a} Toreveal the facts
b} Tomisrepresent
¢} Tobe honest
d) To produce the proof

Ans: b

15. Toseeeyetoeye
ay Toagree
b} To disagree
¢} Tooppose
d} Toappreciate

Ans:a

16, To leave no stone unturned
a)y Togiveup
b) Totry one’s best
¢} To postpone
d) To order

Ans: b

Instructions: Select the best option in the following sentences:

17, The okd man was proud....... his son.
&} on
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b} of
¢} at
dy in

Ans: b

18. | congrataiated my friend ....... his brifliant success in the examination,
ay for
b} on
¢} of
d} abeut

Ans: b

19, Englishis....... universal fanguage.
8y A
by An
¢} The
d) None

Ans: a

20, Puneis ... oxford of the east,
ay A
b} An
¢) The
4} None

Ans: ¢

21. Each of the student...... present in the class,
ay  was
b were
¢y are
d) has

Ans:a

22. The prime minister as well as the ministers......... gone abroad.
a) has
b) have
c) s

d) are
Ans: a
Instructions: Read the given passage carefuily and answ;er the guestions:

Man is a social animal and communication is a necessary condition of human existence. Communication is the
process by which information, thoughts and feelings are exchanged among pecple through speaking, writing or body
language. The ideal communication should be precise, meaningful, appropriate and interactional, Commurnication
whether it is verbal or nonverbal should be done carefully. The attitude and words of the communicator should always
be positive and polite. The innovation, creativity and thinking ouf of the box during communication can help us to a
large extent, in sorting out the complex and difficull situations in our personal and professional life,

23, Communication is necessary for
a) Lawyers
b) Doctors
c) Engineers
d) Human being
Ans: d
24, idesl communication should be
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4}y Meaniagful
by Lengthy
c) Inappropriate
d} frrefevant
Ans: a
25. Words of the communicator should always be
a) Positive
by Negative
¢y Discouraging
d) Impolite

Ans: a

26. The word ‘innovation’ in the passage means
a) Creativity
b} Monotonous
¢) Encouraging
dy Complex

Ans:a

Instructions: In each question, & part of sentence is printed in italics, Below each sentence seme alternatives are
given which can substifate the italicized part of the sentence. Find out the correct answer:

27. Assoon as did § come home, it started raining,
a) Assoonaslcame
b} No sooner I came
¢} Hardiy fcame
d) No improvement

Ans:a

28. She is studying faw for four years,
a) has been
b) have been
) was
d} No improvement

Ans:a

29. I he will come to me, 1 will help him.
a) shall come
h) comes
¢) came
d} Noimprovement

Ans: b

30, Al which glitrers is not gold.
a) that
by what
g} the
d} No improvement

Ans: a

v)Basic Mathematies (10 marks)

! A man buys a cycle for Rs, 1400 and seils it at a loss of 15%. What is the selling price of the cycle?
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A

C.

p)

3

4,

6.

Rs. 1690 B. 1166

ite0 b, 1202

Ans:c

The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, then the value of x is:

Ay 15 B) 16
<) 18 By 25
Ans: b

A boat can travel with a speed of 13 kmv/hr in still water. I the speed of the siream is 4 km/hr, find the time taken
by the boat fo go 68 km: downstream.

A, 2 hours B. 3 hours
C, 4 hours D, 5 hours
Ans: ¢

1f a person walks at 14 km/hr instead of 10 kmv/hr, he would have waiked 26 km more, The actual distance
fravelied by him is:

A) 50 km B} 56 km
€y 70 km ) 80 km
Ans: a

5. If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do the same in 2 days, the
time taken by 15 men and 20 boys in deing the same type of work will be:

A,  4days B. S days
C.  fGdays 2. Tdays
Ans:a

A man is 24 years older than his son. In two years, his age will be twice the age of his son. The present age of his
50R 82

A. 14 years B, 18 years

C. ] .
O 3] 22 years
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Ans: ¢

7. Sum of two numbers is 20 and their difference is 4. Find the numbers.

A. 12,8 B. 16.9
C. 20,10 D. 7,14
Ans: a

8. A Batsman makes a score of 87 runs in the 17th inning and thus increases his average
by 3. Find his average after 17th inning.

A. 40 B. 39
C. 52 D. 3§
Ans: b

9. Out of ferty studeunts, 14 are taking English Composition and 29 are taking chemistry,

If five students are in both classes, how many students are in neither class?

A.S B.7
C. 3 D.2
Ans: d

10. In a class,7 students like to play Basketball and 8 like to play Cricket. 3 students like to
play on both Basketball and Cricket. How many students like to play Basketball or
Cricket or both?

Al4 B. 16
C. 10 D. 12

Ans: d



